N = 0l & At & Ml A

017HE =F 18 FUHRSEEN I
SN REHFD
Hu: DS (+SUDS/HEDS - 2RSIIE)

SRl FUE X4 L BR(FHFSEEA) (29l & 2)
SA-3H-S(3AH) - MRAS - BES Off &t 24 INEH Husz
mES 4,000,000 2,500,000 1,500,000

X 750,000 750,000 0

Al 3,250,000 1,750,000 1,500,000

DERR(+2LDE/HEDE - 2FSIIE) 4,000,000 2,500,000 1,500,000
X 750,000 750,000 0

Al 3,250,000 1,750,000 1,500,000

=T XM L BA(EIZSLEN) 4,000,000 2,500,000 1,500,000
X 750,000 750,000 0

Al 3,250,000 1,750,000 1,500,000

TYFNE EHAL 1,750,000 250,000 1,500,000
401 NEHIL 2 THEI 1,570,000 70,000 1,500,000

01 Al 1,569,352 69,352 1,500,000

Oodtds BEF=xd gAY

1,500,000,000& * 14 1,500,000 0 1,500,000




